
Stand 4’s: Example (1760 Y in a M) stands for 1760 Yards in a Mile 

 

1 21 S in a G 21 Shillings in a Guinea 

2 0 D is the E 0 Degrees is the Equator 

3 1000 I D 1000 Island Dressing 

4 32 P W by S 32 Plays Written by Shakespeare 

5 18 = V A 18 = Voting Age 

6 T M 7 The Magnificent 7 

7 4 and TBBIAP 4 and Twenty Blackbirds Baked In A Pie 

8 7 P in a NT 7 Players in a Netball Team 

9 4840 SY in an A 4840 Square Yards in an Acre 

10 1 W on a U 1 Wheel on a Unicycle 

11 27 B in the NT 27 Books in the New Testament 

12 88 K on a P 88 Keys on a Piano 

13 200 P for PG in M 200 Pounds for Passing Go in Monopoly 

14 1440 M in a D 1440 Minutes in a Day 

15 1812 O 1812 Overture 

16 6 = H a D 6 = Half  a Dozen 

17 4 S on a V 4 Strings on a Violin 

18 36 I in a Y 36 Inches in a Yard 

19 10 C in a F 10 Chains in a Furlong 

20 42 S on 2 D 42 Spots on Two Dice 

 


